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= From Silicon to Carbon
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* Quantum computing (2F At Hl4H)

» DNA computing (X Hi&h)

- 2IIUHEE = U= A
+ DNA 220t 2= 2 ¥ ¥ & (massive parallelism)
« Watson-Crick #8351 (Complementarity)
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DNA & 7|

« DNA — DNA chain0| 2} &2/ = polymer
— Deoxynibonucleic acid(Gl S Al 2| £ & Al)
— Sugar(E), phosphate group( 2l 4t), nitrogenous base(E & EJ])

- 0| chain® nucleotides® T4 5/ 11, 2 nucleotide=s S|
(bases)2| HE0F ZH0IJF L
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C (Cytosine) !
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Thymine & J|E == Nucleotide
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DNA 29 Deoxyribonucleotides2 = 21 = monomer
deoxyribonueleic acidJt 12 & polymer 0| Ct.
DNAS SREF 22K 2 JI=

S DEHAS MED| A HEH IS

- (@ A=S cellS SO 22 AIISHE 2t
Nucleotide®| Z}0l= 2F2+20 SJ19) XH0I2£01 10 0
A0l= 2908l 27, = purines$t pyrimidines2 2 &
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| ONAZREOUAN MEEI= AHAMIL

- DNA EAHE289 &
- REK S8 -DNAZE LHGt=

| ’:5' (Hybridization)
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DNA ZEE A ASE= ST
« 2) ZEY (Ligation)
— B & Y Cisticky end)Ol M2 ZEat0 otLES
2l Ar=E gHole 22 ANE

SOl MSE= HAMI

- HAHHA=ERE (Anneallng)
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_DNA EEE0NAN MEE = AL

DNA ZIEE0A MER = AMI |

= 4) =eias gy
Reaction, PCR)
- 53 |t S (sequence)Z JtX D Rl= DNAS
n(n: GHE FHUCE SHAIP = 2=
» OIE IS e T IS 22 2di(melting) S £, EF
ASIDT e SIS ) 42 HHEE £It8t0 0]
B IS E QA 2tS

(Polymerase Chain
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- 5) A MY ESH (Gel Electrophoresis)
-53 2012 DNAS £56t= 71"
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_ DNA EFE0A AEE= AL

_DNA ZHHE0AH AMEE= AL

« 6) X 3 S (Antibody Affinity)
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2= DNAZ S25ts 28

CEH BISE 0SB S8 €0 e

o

=

i

x
\"'3@ D erentei

« 7y 2 (Enzyme) £HS
— 2Ol 71 =(ligase)
- BEYUA AIZ
s EE ANEHE B
- HIg & A (restriction enzyme)
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__Adleman2| &8

» NP-complete 2 X2 o Z

= Turing machine /&

» Finitc state machine = &

« Boolean circuit 7 & (DNA Adder &)
= DNA associative memory

- DES &5 =

« DNA H &2 22 H0 &2 0LE 20|12
QU BECH

+ Feynman, “Miniaturization™ Z= 0| A 8t & B H
E UE 2 Uz JisH HA

 Quantum computing, DNA computing
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HPP(Hamiltonian path problem)

NP-complete problem, intractable

P
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.+ Adleman — non-deterministic algorithm

I = L ~ut-vertex® 2= n 2| directed graph G2 K& S Valk

Vawe “H=CH

- Sep 1: WE 7 THRE 01250 GOl HE pathE randorm
22 4& Bt

— Step2: Vu @2 AEGHK Q& HLL Vo L2 BUIX &=
pathZ AT EHCH

— Step 3 n M S vertexE H ST = HE ATECH

- Step 4 : nIHSl vertex vOll CHSH vE ZGHA B = pathF
At HIELCH

= Quipur : pathJt & 0F UL B "Veg, QLI "No®
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o AE 2 continued
+ 5 (0£i<6), 2f S0 20-mer DNA 2 & S=5 S'
5:= TATCGGATCGGTATATCCGA e
5= GCTATTCGAGFTTAAAGCTA + vertex i @ vertex j AtOI 2 edge= HS.S)E B8
s¢+= GGCTAGGTACCAGCATGCTT - CATATAGGETCGATAAGETE
) . . e = GAATTTCGATATAGCCTAGC
+ Complementary mapping A (Watson-Crick morphism) fie = GAATTTCGATCCGATCCATG
AAY=T,KT)=A, H{(C)=G, (G)=C
KCATTAG) = GTAATC + ligation
h(s2) = ATAGCCTAGCCATATAGGCT
o K(s1) = CGATAAGCTCGAATTTCGAT “ra’; polymerase chain reaction(PCR)
W i i G, Earan 18 W5 lim A it Eorm -
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DNAS| H At continued
+ merge : FHE AIE 2 N1 N20M CHolt NTON2 - length-separate : =1 & A& 2t N2 )| S & wiil CH
« amplify : S0 & Al E 2N CH6H 2768 copy 2 CHS S ANOI CHEF 20/ n0lcte EE HHEE2XE X
el = = 2 = A A
« detect: NOI ®O0I S 1042l DNA EXE E&3 Bo= MBS (N S 24
H "true”, OFLI ™ “false™
- separate == extract: N1}t {A,C,G,TI &2 JI&EE wiil * position-separate : NOjl 2t&t 2= tHE XU A
CHBH AL 2000 AL BE+(N,w), -(N,w) = Ot S S wEAEEGE S OF DHEE A BNWES 44
) wE PRI SYRA LIS N 2F I SLET) - wEBUSAS 2T Raois NS ENWE &4
SNw)wE REIEURA ZEEIA HENS RE N=Y(ER)
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example __Adleman®| & &
» EOIR AT ALY GE BEZS I EoIEIW
(1) input(N) 1) input
(@) N+ ~(MA) (1) inpur(N)
(3) N = +HN.G) (2) N « B(N,50)
(4) dutect(N)
- HOIE 8IS A BEGS EEEE 2 HIZEX () N EW, sq)
(1} tnput(N) (4) N(_ (N, 5140)
gi i,"i’ﬂfz:ﬂ\;\l HOHOINZE 2N copy Mt N5 84 (5) for i =1 to 5 do begin N « +(N, s.) end
(4) Mo +(N.,G)
(YN (V) (6) detect(N)
(6) merge(N a N'y




Linton 2| Satisfiability problem

o=V ~VO)N@V YA (=X V) A~Xs

= ¢xhaustive search

example) f=@ VX)) A (~x V~X:)

NOI 2Het S X0 A 38 W 2 bitD} j(7=0,1)0! X =
E AB2S SN, 1,/)2 5t
SN, i, ))=+(N, a’)
SN, i) =+, a})

24

(1) input(No)

(2) M1 < B{Mo, 1, 1)
()N« EM, 1, 1)
AN« (M2, 1)
(5) merge(Nu, N2) = Ns
{6) Na<= B(MVs, 1, 0)
(YN =EM, 1, 0)
(8) Ns = (N, 2,0)

(9) merge(Ns, Ns) = No
(10) detect(Ne)

(1) 00, 01, 10, 11
@) 10, 11

(3) 00, 01

(4) 01

(5 10, 11, 01
(6) 01

(7 10, 11

(8) 10

(9) 01,10




